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2079 =4 1 3 =& SEIH &A
2N nEHAHY
HH: DSH#F A
SR =XAE B2E Y EZXHEAN SE(ZNE SE3H) (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
nsHF 10,347,677 7,984,595 2,363,082
Al 50,400 0 50,400
- 10,297,277 7,984,595 2,312,682
nsdd o 2,348,752 2,240,184 108,568
Al 50,400 0 50,400
- 2,298,352 2,240,184 58, 168
FIUAIE &5 2 FAEMN S2EH(FXNE SEIAH) 2,329,060 2,220,432 108,628
Al 50,400 0 50,400
- 2,278,660 2,220,432 58,228
SYFIE E0 & 22 546,294 511,266 35,028
201 LEt2 Y| 18,402 19,352 A 950
01 AR 22| bl 18,402 19,352 A 950
O XA 348 1,700,000 1,700 2,650 A 950
307 212t01 & 340,292 331,092 9,200
05 DIZtRIEHS 340,292 331,092 9,200
O FAXNHR ZXE AR +42
48 340,292,000& 340,292 331,092 9,200
308 XXM SO0IA 31,278 4,500 26,778
MIIERE3 26,778 0 26,778
O O0IJITH =9 2HEFIE AHASALY AlH X
= g% 3,555,000 *50% 26,778 0 26,778
Ol F=XAY =& 75,990 3,990 72,000
Al 50,400 0 50,400
- 25,590 3,990 21,600
307 2I2tol A 72,000 0 72,000
Al 50,400 0 50,400
- 21,600 0 21,600
02 DIZFAAMAMEE X 72,000 0 72,000
O J2AFIXAME(OHEIIRS2) 72,000,000 72,000 0 72,000
Al 50,400 0 50,400
- 21,600 0 21,600
=X FB MEHE 20 228,321 232,321 A 4,000
201 Let29Y| 182,468 186, 468 A 4,000
01 At 22|l 42,668 46,668 A 4,000
O MEehE DXAM a8 22,400,000 22,400 26,400 A 4,000
ASit2ed BEHE MEXds HSE JX 25 32,312 26,312 6,000
201 L2 9| 13,140 7,140 6,000
01 At 22| bl 7,740 1,740 6,000
O B72 PSE YR 45443
338 7,440,000 7,440 1,440 6,000
St NS A SMEIE=S 3,760 4,160 A 400
201 LEt29Y| 3,260 3,660 A 400
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SN EE B (BH) - HRAY - BES 0l &F 24 o1& o Hl D= 2t
01 At 22l 3,260 3,660 A 400
O stSASA Ltk ot R Z2E 0¥ 0 400 A 400
WERLFLZ 2ot L 22 (FUHE SEIH) 19,692 19,752 A 60
NERLREa 2o L g2 5,222 5,282 A 60
201 L2l 4,922 4,982 A60
01 At 22l 610 670 A 60

O NERYSLI &5 22842 S

Z 3 300,000 300 360 A 60
HWEeEs(nsSs#H &) 624,225 564,562 59,663
UWEAHAXKE(F=XE SE3) 624,225 564,562 59,663
HWEAHAHX S (FAEELE S AH) 624,225 564,562 59,663
802 Er&t 3 J| EF 59,663 0 59,663
02 Al - EHIEXZSEEZ 59,663 0 59,663
O D8IF=XAE (HEIRHS) 3,510,990& 3,511 0 3,511
O k=i o4 53,771,490 53,772 0 53,772
O =8HF3X RSFEH &X 395,340 396 0 396
O NsSHARX Z2R2IAA> 1,593,280 1,594 0 1,594
O SAHUIIAIE 4X 389,420& 390 0 390
Olglbl (=XESESIA) 6,998,021 4,803,170 2,194,851
olelbl (=xt& S35 H) 6,998,021 4,803,170 2,194,851
lolbl (=& SEsH) 6,998,021 4,803,170 2,194,851
801 OilHI I 6,998,021 4,803,170 2,194,851
01 BHoil bl bl 6,998,021 4,803,170 2,194,851
O olldgldl 23 6,998,021,000& 6,998,021 4,803,170 2,194,851




